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Match the system of linear equations with the corresponding graph. Estimété the

solution for each Graph. -
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N i :
A. 74 B. K?‘\Y‘ } c. 1
-3-2\f0| 12 3x ST S (R, R DN, O 33 fo
I\ o T
ik AR CPETTRNC BT

Solution for A. C"‘\ ! '—‘3 Solution for B(/ ) ,'5_) Solution for C. ( \ ? B

3. Solve the system of linear equations by GRAPHING. (3 points for each question.)
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4. Solve using substitution. Check your solution. (4 points)

y=x+2 )
y=3x—4 Solution (315
4D = Dx-4
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5. Solve using i g\ v maHe .- . Check your solution. (4 points)
-2x+3y =9 B
2x+y=7 Solution (l's y) u
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6. Solve using Bi‘t_f’\ﬁi“’b")Check your solution. (4 points)
-6x + S5y =25 : Solution

-2 (-2x-4y= 14)

~ex+S(-D=2S

-b% + Sy = 25 wlasy —B o 08
by Ay = ~dQ S J—E
My = - —low = B0
e \? -6 —le
Y= -I 5
Check
15t equation 2" equation
o (-sD+s-D=2S o/ -4d(- D) =14
20 -S = S o +4 = 1d
o5 =28 v =i

7. A class of 366 students went on a field trip. They took 12 vehicles, some vans and
some busses. Find the number of vans and the number of busses they took if each van

holds 6 students and each bus holds 55 students. N . _lf_’ -\/)’\QJ = \/3-&9, o
Solution {0 busses a b very o\ ‘)Z/ oS, Sole.
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